
EXAMPLE 2 Row reduce to echelon form, and locate the pivot
columns.  0 −3 −6 4 9

−1 −2 −1 3 1
−2 −3 0 3 −1

1 4 5 −9 −7


Solution  1

Pivot

4 5 −9 −7
−1 −2 −1 3 1
−2 −3 0 3 −1

0
Pivot column

−3 −6 4 9


 1 4 5 −9 −7

0 2

Pivot position

4 −6 −6
0 5 10 −15 −15
0 −3

New pivot column

−6 4 9

 Possible pivots: 2, 5,−3

1 4 5 −9 −7
0 2 4 −6 −6
0 0 0 0 0
0 0 0 −5 0

 ∼
1 4 5 −9 −7

0 2 4 −6 −6
0 0 0 −5

Pivot

0
0

Pivot columns

0 0 0 0



Original matrix:

 0 −3 −6 4 9
−1 −2 −1 3 1
−2 −3 0 3 −1

1
Pivot columns

4 5 −9 −7


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